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’ 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00 | 0.00 ~ 469 5840 | #nlist | 000 ~ 0.00| 1.63 8.71 ZznLst 1.00 ] 500 ~ 5.00 5840 | #hList | 500 ~ 500 1.63 8.71
9 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00] 0.00 ~ 7.18 9135 | #nlis | 000 ~ 7.18| 1.86 9.93 ZznLst 1.00 ] 500 ~ 930 9135 | #hList | 500 ~ 930 1.86 9.93
3 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00 | 0.00 ~ 555 69.33 | N4t | 000 ~ 555 213 11.37 ZznLst 1.00 | 500 ~ 8.00 69.33 | 14t | 500 ~ 8.00 | 2.13 11.37
4 100kN/m#%#82x%| 1.00( 0.00 ~ 0.69 110.22 |3mZEHBZ 3% -~ — — —| 100kN/m%#E%%| 1.00 [11.63 ~ 13.74 110.22 |3m%i#BZ 5 -~ — — —
ZznLst 1.00 | 0.69 ~ 847 100.00 | Z1List | 000 ~ 847 | 244 13.04 ZznLst 1.00 | 500 ~ 11.63 100.00 | ZHList | 500 ~ 13.74 | 2.44 13.04
5 100kN/m%#8 x5 1.00 | 0.00 ~ 0.05 100.66 |3mE{EZ S -~ — — —| 100kN/m#%i#8%%| 1.00 [12.46 ~ 12.60 100.66 [3mZE#EZ 5 -~ - — —
ZznLst 1.00] 005 ~ 783 100.00 | ZnList | 000 ~ 783 | 252 13.48 ZznLst 1.00 | 500 ~ 12.46 100.00 | £ ist | 500 ~ 12.60 | 2.52 13.48
100kN/m#E#BZ % ~ IMEEZD ~ 100kN/m%#8 2% ~ ImEFEZD ~
ZhLs ~ Zh st ~ ZhLs ~ ZhLst ~
100kN/m#E#BZ % ~ IMEEZD ~ 100kN/m%#8 2% ~ ImEFEZD ~
ThLS ~ Zh s ~ ThLS ~ ZhLlst ~
100kN/mM%#8Z % ~ ImEHEZD ~ 100kN/m## 825 ~ ImEHEZD ~
ThLS ~ Zh s ~ ThLS ~ ZhLlst ~
100kN/mM%Z#BZ 5% ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHEZD ~
ThLs ~ Zh s ~ ThLs ~ ZhLlst ~
100kN/mM#Z#BZ % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZD ~
ThUS ~ Zh s ~ ThLs ~ ZhLlst ~
100kN/mM#Z#8Z % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZD ~
ThUS ~ Zh s ~ ThLs ~ ZhLlst ~
100kN/mM#Z#8Z % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZD ~
ThUS ~ Zh s ~ ThLs ~ ZhLlsh ~
100kN/mM#Z#BZ % ~ ImEHEZD ~ 100kN/m##8 2% ~ ImEHBZD ~
ThLs ~ Zh s ~ ThLs ~ ZhLlsh ~
100kN/mM%#8Z % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZ D ~
ThLs ~ Zh s ~ ThLs ~ ZhLlsh ~
100kN/mM%Z#BZ 5% ~ ImEHEZD ~ 100kN/m##8 2% ~ ImEHEZD ~
ZhLS ~ Zh s ~ ZhLS ~ Zh Lot ~
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